

### Florida Department of Transportation

10/06/2023

**Vendor Ranking** 

Page 1 of 1

**Letting:** 04231006

Contract: E4W94-R0

**District:** District 4

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s)**: 43622347201 (\*)

Contract Desc: DISTRICTWIDE WILDFLOWER INSTALLATION AND MAINTENANCE

| Ran | k Vendor                         | Bid Type   | Bid Status      | Total Bid    | Percent Of<br>Low Bid |
|-----|----------------------------------|------------|-----------------|--------------|-----------------------|
| 1   | AIRBOAT ADDICTS, INC.            | Responsive | Winning bid     | \$90,137.65  | 100.00%               |
| 2   | AGRICULTURAL LAND SERVICES, INC. | Responsive | Non-Winning Bid | \$132,621.96 | 147.13%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

**BEGIN DATE:** 

10/31/23

**BEGIN TIME:** 

10:30 AM

END DATE:

11/03/23

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 125,000.00 and not the contractor's bid total.



Page 1 of 3

#### Florida Department of Transportation



#### **Tabulation of Bids**

**Letting:** 04231006 October 06, 2023 **Call Order:** 001 **Contract:** E4W94-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43622347201 (\*)

Contract Descr: DISTRICTWIDE WILDFLOWER INSTALLATION AND MAINTENANCE

The work under this Contract consists of providing all labor, materials, equipment, tools, transportation and incidentals required to prepare, plant and maintain various wildflower areas throughout District 4.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$125,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/egualopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at

https://www.fdot.gov/equalopportunity/bdi.shtm Prequalification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

| Line No / Item ID Alterna Item Description  | te Quantity<br>Units | (1) AIRBOAT A | DDICTS, INC. | (2) AGRICULT<br>SERVICE |            |            |            |
|---|----------------------|---------------|--------------|-------------------------|------------|------------|------------|
| () indicates item is bid as Lump Sum        |                      | Unit Price    | Ext Amount   | Unit Price              | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (WILDFLOWERS (AC              |                      |               |              |                         |            |            |            |
| 0005 0700 1 40<br>SINGLE POST SIGN, INSTALL | 60.000<br>AS         | 124.00000     | 7,440.00     | 45,00000                | 2,700.00   |            |            |
| 0010 E104 4 3 MOWING (SMALL MACHINE)        | 58.590<br>AC         | 320.00000     | 18,748.80    | 300.00000               | 17,577.00  |            |            |
| 0015 E104 50<br>WEED CONTROL MANUAL         | 17.570<br>AC         | 141.00000     | 2,477.37     | 400.00000               | 7,028.00   |            |            |



# Florida Department of Transportation

# **Tabulation of Bids**

Page 2 of 3

| Letting:                                     | 04231006                    | October 06, 20      | 23 <b>Ca</b> l            | l Order: 001 |   | Contract:    | E4W94-R0   |            |
|--|-----------------------------|---------------------|---------------------------|--------------|---|--------------|------------|------------|
| Line No / Item ID Alternate Item Description |                             | e Quantity<br>Units | (1) AIRBOAT ADDICTS, INC. |              | (2) AGRICULTURAL LAND<br>SERVICES, INC. |              |            |            |
| () indicates i                               | tem is bid as Lump Sum      |                     | Unit Price                | Ext Amount   | Unit Price                              | Ext Amount   | Unit Price | Ext Amount |
| SEC  | TION: 0001                  | (WILDFLOWER         | RS (AC                    |              |   |              |            |            |
| 0020 E107<br>MOWING (LAF                     | 2 1<br>RGE MACHINE)         | 35.140<br>AC        | 255.00000                 | 8,960.70     | 575.00000                               | 20,205.50    |            |            |
| 0025 E110<br>LITTER REMC                     |                             | 193.270<br>AC       | 140.00000                 | 27,057.80    | 100.00000                               | 19,327.00    |            |            |
| 0030 E570<br>WATER FOR 0                     | 9 1<br>GRASS & PLANTS       | 190.000<br>MG       | 3.62000                   | 687.80       | 1.00000                                 | 190.00       |            |            |
| 0035 E580<br>WILDFLOWER                      | 4 1<br>R SEED INSTALLATIO   | 17.570<br>ON AC     | 920.00000                 | 16,164.40    | 1,100.00000                             | 19,327.00    |            |            |
| 0040 E580<br>BED PREPAR                      | 173<br>ATION & MULCHING     | 85,038.800<br>SY    | 0.02000                   | 1,700.78     | 0.45000                                 | 38,267.46    |            |            |
|  | 337 2<br>STRIP APPLICATION) | 1.000<br>AC         | 500.00000                 | 500.00       | 2,000.00000                             | 2,000.00     |            |            |
|  | 337 3<br>SPOT APPLICATION < | 200.000<br>< 100 SF | 32.00000                  | 6,400.00     | 30.00000                                | 6,000.00     |            |            |
| 0001 W                                       | ILDFLOWERS (AC) S           | Section Totals:     |                           | \$90,137.65  |   | \$132,621.96 |            |            |



## Florida Department of Transportation

10/06/2023

## **Tabulation of Bids**

Page 3 of 3

**Letting:** 04231006 October 06, 2023 **Call Order:** 001 **Contract:** E4W94-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.